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General tips for reading papers
● What are the main findings?

● What is the estimation method? (e.g. RCT, difference-in-differences, etc.)

○ What is the main assumption for the method to be valid? 

○ How could it fail? 

● What is the identification strategy? In other words, how did the intervention roll 

out? Randomly or not? 

● Why might the estimated effects be biased or unbiased?

○ What kind of selection bias, if any? 
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Fall ‘19 midterm - Q3
3. You are evaluating a program to provide scholarships to encourage kids to stay enrolled until the 
end of primary school (up to grade 8). Imagine that there are three types of kids in these schools. 
Call them Types A, B, and C. 50% of kids are Type A, 25% are Type B, and 25% are Type C. Type A kids 
are rich and will finish school with or without a scholarship. Type B kids are very poor and won’t 
finish school with or without a scholarship. Type C kids are somewhere in the middle, and will finish 
school if they get a scholarship but will drop out otherwise. You are evaluating an experiment in 
which kids in treatment schools get scholarships. Kids in control schools get nothing.
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Fall ‘19 midterm - Q3.(a)
(a) Write out the regression you’d run to test whether the program increased school completion 
rates. Based on the description above, what will your coefficient estimates be?
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Fall ‘19 midterm - Q3.(b)
(b) You are interested in testing whether the program increased test scores. Before the program 
started, you collected test scores for all the kids. The scores range from 0-100. On average, Type A 
kids got an 80, Type B kids got a 50, and Type C kids got a 60. Let’s assume that any kid who finishes 
primary school increases their score by 10 points, while any kid who drops out gets the same score 
that they did before the program started. In the experiment, you conduct a test score that is 
administered to every single student from the experiment. What is the average post-test score in the 
treatment schools? What about the control schools? What is the estimated effect of the program?
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Fall ‘19 midterm - Q3.(c)
(c) Does this estimate give you the return to attending primary school? If not, is this estimate too big 
or too small? Explain what’s happened.
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Fall ‘19 midterm - Q3.(d) & (e)
(d) Now imagine that the tests can only be administered in the schools. If the kid is still enrolled, she 
takes the test; if she’s dropped out, she can’t be found and is never tested. What would your 
estimated program effect be? Explain your result.

(e) Summarize what you have found in this problem.
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Fall ‘19 midterm - Q4
4.  As we have talked about in class, school enrollment in developing countries has increased dramatically over time; 
however, many kids who are enrolled in school score well below grade-level on tests. While these kids are in school, 
they may not be learning that much. One reason for this may be that classrooms are big and students have 
heterogeneous preparation levels, so the teacher may find it hard to meet the needs of every child. For example, 
some kids may be doing advanced math while others are struggling with much more basic concepts.

In this case, students might benefit from more specialized learning opportunities. While a teacher doesn’t have time 
to create an individual lesson plan for every student, a computer could. Researchers tried out an evaluation in which 
children in India went to an after-school tutoring center. At the center, each child had access to his or her own 
computer. Every day, the student would go through lessons on the computer, with the oversight of a teacher, and 
then would receive person-to-person tutoring afterwards. The computer software was designed to “Teach at the Right 
Level.” That is, for a student that was struggling, the lessons would be more basic and would be about developing 
basic skills; for a stronger student the lessons might be more complicated.

Researchers randomized access to this program. A treatment group received the computer- assisted learning 
program, while a control group did not. This question is about evaluating the effect of the program.
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Fall ‘19 midterm - Q4
(a)  (5 points) Table 1 shows a table of means for treatment and control groups at baseline, before the 
program started. What should this show? What does this table show? What does this mean for the 
evaluation?
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Fall ‘19 midterm - Q4
(b) (hard question - 10 points) Figure 1 shows us a graph where the y-axis is the assessed level of achievement of a 
student, i.e. their actual level of knowledge. We would hope that a child’s level would be at their grade level – i.e. that 
a 6th grade student has skills which meet expectations for a 6th grader. However, kids that have fallen behind would 
be below grade-level – a 6th grader may only be able to read at a 4th grade level for example, and so her assessed 
level would be 4th grade even though she’s in 6th grade. In the graph, the x-axis is the student’s actual grade level, i.e. 
the grade that they are enrolled in school.

i. This graph has a blue line which is the 45 degree 
line from the origin. What does this line represent?

ii. Where would we expect the points in this graph to 
fall relative to the 45 degree line?

iii. Interpret the results in this figure.
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Fall ‘19 midterm - Q4
(c) (5 points) Table 2 shows us treatment effects from the program. This is a simple regression where the 
dependent variable is the student’s score on a test after the program was over. The main independent 
variable is an indicator variable equal to 1 if the student is in the treatment group and 0 otherwise. What 
does this regression tell us? (note: the dependent variable “standardized IRT score” is just a name for the 
standardized test score – this variable has mean 0 and standard deviation 1).
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Fall ‘19 midterm - Q4
(d) (5 points) Table 3 shows us how children did on the test on specific items, breaking it down into 
arithmetic, fractions, etc. What does this show?
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Fall ‘19 midterm - Q4
(e) (hard question - 10 points) Table 4 shows us whether treatment effects differ by characteristics like gender. We will 
focus only on gender, columns 1-2. The regression that the authors are running is

i. What is the prediction from this regression for a boy in the control group? What about a boy in the treatment group?

ii. What is the prediction from this regression for a girl in the control group? What about a girl in the treatment group?

iii. What do each of the coefficient represent?

iv. How would a researcher test whether girls benefit more from the treatment than boys?
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Fall ‘19 midterm - Q4
v. What do the results in Table 4 show?
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Fall ‘19 midterm - Q4
(f) (5 points) Table 6 shows us treatment effects on items that are below a child’s grade level, and on items 
that are at a child’s grade level. Interpret these results.



Econ120: Development Economics TA Section: Week 4 Oct. 26, 2020

Fall ‘19 midterm - Q4
(g) (hard question - 5 points) Table 5 shows us heterogeneity by tercile of the pre-treatment score. A tercile is a word 
for splitting up the test into 3 groups – the kids in the bottom third at baseline, the kids in the middle third, and the 
kids in the top third. Table 5 then runs regressions of this form

i. Why is the lowest tercile (and the interaction between the lowest tercile and treatment) omitted here?

ii. Interpret all the regression coefficients.

iii. How would a researcher tell if the treatment worked better for kids at the top tercile than at the bottom?
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Fall ‘19 midterm - Q4
iv. What do the results in Table 5 show? Interpret what you find.
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Problem Set 2 - Question 3

“Poor” households

“Not poor” households0.07

0.09
0.10

0.17

avg. malaria rates

time 

“Counterfactual” for poor households
(parallel to the factual  non-poor households)

Diff-in-diff estimator:
(0.10-0.17)-(0.09-0.07) = 0.09


